
 

2021-04-WZ 
 
Project Title: 

 
Portable sign supports for rigid  signs with variation on mounting height. 

 
 
Project 
Synopsis: 

 

There is a need to place temporary signs within channelizing devices so they are visible for the 
traveling public. This requires a minimum sign height of 5 ft measured from the top of pavement 
to the bottom of the sign. MASH testing will be conducted to aide in the development of a 
crashworthy sign stand for temporary applications. 

 

Project Goal(s): 

Develop a design for a sign stand for rigid signs that can be placed within channelizing devices 
at a mounting height of 5’ or greater (7’ is preferred). Sign size needs to range from 2’ x 2’ (4 
square feet) to 4’ x 4’ (16 square feet). 

 
 
 
 
 

 
Project 

Background: 

 
 
 

In work zones, when signs are placed among channelizing devices, they can be visually blocked. 
Currently, there is not a tested sign stand that can hold a rigid  sign at a height necessary to be 
placed among channelizing devices, only roll-up signs. A sign stand that can place the sign above 
these devices is needed to provide appropriate sight distance and decision time. 

 

See attached figures for proper and improper placement at the bottom of the page. 

 
 
 
 
 
 

 
Proposed Work 
Plan: 

 
Tasks: 

 

1. Literature Review 
2. A State-of-Practice Survey 

 

3. Engineering Analysis and/or Simulation 
 

4. Construction and Demolition 
 

5. MASH TL-3 Full-Scale Crash Testing and Reporting 

Research Problem Statement 2021-04-WZ 



 

 
Deliverables: 

 
 

Compile summary report to document research effort, including literature review, CAD details, 
crash testing, and recommendations for further research in the event of the system failing testing 
criteria. 

 
 
 
 

Urgency and 
Expected Benefit: 

 
 
 
 

Successful MASH evaluation of a temporary sign stand will improve safety in work zones and 
allow for the installation of signs among channelizing devices that can be seen with adequate 
time for decision making. 

 
 
 
 

 
Problem Funding 
and Research 
Period: 

 
 
 
 
 

$205,000 and 15 months. 

 
 
Developer(s) of 
the Problem 
Statement: 

 

Name: Shawn Debenham / Justin Wilstead / Brian Crossley / Michelle Moser 

Email: sdebenham@utah.gov / jwilstead@utah.gov / bcrossley@pa.gov / 

michelle.moser@state.mn.us 

Phone: 801-971-9575 / 801-910-2507 / 717-265-7562 

mailto:sdebenham@utah.gov
mailto:jwilstead@utah.gov
mailto:bcrossley@pa.gov
mailto:michelle.moser@state.mn.us


 

Figure 1. Improper sign height among channelizing devices. 



 

Figure 2. Proper sign height among channelizing devices. 

 

Temporary Sign Stand Examples 



 

 
 

36" X 36" 0.100" 
Sign hole

 

aluminum panel punching 

•-------,- • 
9" 

- _L_ 

t,2· • 

Vertical mast 

 
 

Sign mounting detail 

3/8" steel washer 
 

5/16" (0.3125") grade 5 
3/8" nylon washer

 
bolt attaching sleeve 

3/8" steel washer
 

to vertical mast at 
-81" 

;j : :e_-=:iu - 5/16" bolt 
the top 

 

 
Square tube 

5/16" (0.3125") grade 5 5/16" nut 

bolt attaching vertical 
mast and sleeve to stub 

Sleeve 

 

Horizontal leg 

 
 
 
 
 
 

Ballast - 1201b. maximum 
sandbag weight at end of Vertical stub is 

each leg  welded on all 4 sides 
to horizontal leg 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts - 2" x 2" x 108" long. 
(2) Sleeves - 2.25" x 2.25" x 36" long. 
(2) Horizontal legs - 1.75" x 1.75" x 72" long. 
(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long. 
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

12/1/05 

DATE OF REV. NCHRP 350 COMPLIANT 

TALL PORTABLE SIGN STAND 
FOR 36" X 36" STOP 

 

 



 
 

 
Sign hole 

punching 

 I  

l_j   
I 9" 30" X 30" 0.100 

.J _ 

aluminum panel 
I 9" 

jT  

I 

Vertical mast 

 
 

 
48" to 
Sign 

Sleeve 

 
 

 
H Skid 

 
Ballast - 451b. maximum 

sandbag at end of each leg 

 
 
 
 
 
 
 
 
 

Sign mounting detail 

3/8" steel washer 

3/8" nylon washer 
Parts List:  3/8" steel washer 
All square tube 12 gauge galvanized steel with 0.4375" holes ;ll != I 5/16" bolt on either 1" centers or drilled as needed. 
(2) H skid, horizontal legs - 2" x 2" x 60" long. 
(1) H skid, cross bar - 2" x 2" x 30" long. Sign face 
(1) H skid, vertical stub - 2" x 2" x 12" long. 
(1) Vertical mast - 2.25" x 2.25" x 60" long. Square tube 
(1) Sleeve - 2.5" x 2.5" x 36" long. 5/16" nut 
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 
zinc plated bolts and washers, nylon insert lock nut, and nylon 
washers against sign face. 

APPROVED 

7/15/05 

DATE OF REV. NCHRP 350 COMPLIANT 

PORTABLE SIGN STAND 

FOR 30" X 30" STOP SIGN 
 

 

 



 

Sign mounting detail 

3/8" steel washer 

3/8" nylon washer 

3/8" steel washer 

=j i: :J[ JII 5/16" bolt 
24"X 12" 0. 100" 
aluminum panel 

Sign face 

Square tube 
24" X 12" 0.100" 

5/16" nut aluminum panel 
Vertical mast --+ --------------- i 

Sign hole punching 

 
 

24" X 24" 0.100" 
aluminum panel 

 
 

 
 

21" X 15" 0.100" 
aluminum panel 

 
 

_j_ ---------------------------------------------------------------------------- Sleeve 
4.5" 

- 5" Ballast - 451b. maximum 

 T  sandbag at end of each leg 

 
 
 
 
 

 
O" 

 
 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) H skid, horizontal legs - 2" x 2" x 60" long. 

(1) H skid, cross bar - 2" x 2" x 30" long. 
(1) H skid, vertical stub - 2" x 2" x 12" long. 
(1) Vertical mast - 2.25" x 2.25" x 96" long. 
(1) Sleeve - 2.5" x 2.5" x 36" long. 

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

12/1/05 

DATE OF REV. NCHRP 350 COMPLIANT 

PORTABLE SIGN STAND FOR 
DETOUR ASSEMBLY WITH 8' MAST 

 

 

 



 

Sign mounting detail 

3/8" steel washer 

3/8" nylon washer 

3/8" steel washer 

=j i: :J[ JII 5/16" bolt 

24" X 12" 0.100" 

Sign face aluminum panel 

Square tube 

5/16" nut 

 
Sign hole punching 73.5" 24" X 24" 0.100" 

to top aluminum panel 

of sign 
Vertical center 
line of signs 

   21" X 15" 0.100" 

aluminum panel 

 

48" to J..-------1--  Sleeve 

of 
stacked 
panels 

 
Ballast - 451b. maximum 

sandbag at end of each leg 

 
H Skid 

 
 
 
 
 

30" 

 
 

 
Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) H skid, horizontal legs - 2" x 2" x 60" long. 
(1) H skid, cross bar - 2" x 2" x 30" long. 
(1) H skid, vertical stub - 2" x 2" x 12" long. 
(1) Vertical mast - 2.25" x 2.25" x 72" long. 
(1) Sleeve - 2.5" x 2.5" x 36" long. 

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 
 

7/15/05 

DATE OF REV. NCHRP 350 COMPLIANT 

PORTABLE SIGN STAND 

FOR DETOUR ASSEMBLY 
 

 

 

3" 

--H- 
3" 

 

 

 _j_ 

4.5" 

 
14.5" OT 

 

 

 



 
 
 

 
  Sign hole 

punching 
48" X 48" 0.100" 15" 

aluminum panel 
 _)_   _

 

I 

 

 

I 

6" 

 
 

Vertical mast 

 
Sign mounting detail 

3/8" steel washer 

 
3/8" nylon washer 

5/16" (0.3125") grade 5  3/8" steel washer 
bolt attaching sleeve 

;j l l'l[ Jll=J5/16
11 

bolt to vertical mast at 
the top 

Sign face 

5/16" (0.3125") grade 5 Square tube 

bolt attaching vertical 5/16" nut 
mast and sleeve to stub Sleeve 

Sleeve 
 

Horizontal leg 

 

 
Vertical 

mast 

Horizontal leg 

 
 

Vertical stub is 
Ballast - 120Ib. maximum welded on all 4 sides 

sandbag weight at end of to horizontal leg 

each leg 

 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts - 2" x 2" x 108" long. 
(2) Sleeves - 2.25

11 

x 2.25" x 36" long. 
(2) Horizontal legs - 1.75" x 1.75" x 72" long. 
(2) Legs, vertical stubs - 1.75

11 
x 1.75" x 12

11 
long. 

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

12/1/05 

DATE OF REV. NCHRP 350 COMPLIANT 
PORTABLE SIGN STAND 

FOR 48" X 48" EXIT PANEL 
 

 

 



 
Optional lightweight amber 
flashing light is mounted 
to aluminum panel 

Sign hole
 

and against vertical 

mast to prevent spin 48" X 48" 0.100" 
punching 

aluminum panel • 

- --i ------ 12"
 

12" 

1 5 ''-'.' ,_....+, --- 1-5r"' 

 
Vertical mast  

Sign mounting detail 

3/8" steel washer 
 

3/8" nylon washer 
5/16" (0.3125") grade 5 3/8" steel washer 

bolt attaching sleeve 1;111=:I 5/16" bolt 
to vertical mast at 
the top 

 
61.75" 

5/16" (0.3125") grade 5 Square tube 

bolt attaching vertical 5/16" nut 
mast and sleeve to stub 

Sleeve 

Sleeve 
 

Horizontal leg 

 

 
Vertical 

mast 

Horizontal leg 
 

 

 
Vertical stub is 

Ballast - 1201b. maximum welded on all 4 sides 

sandbag weight at end of to horizontal leg 

each leg 

 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts - 2" x 2" x 108" long. 
(2) Sleeves - 2.25" x 2.25" x 36" long. 
(2) Horizontal legs - 1.75" x 1.75" x 72" long. 
(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long. 
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

7/15/05 

DATE OF REV. NCHRP 350 COMPLIANT 

5 FEET PORTABLE SIGN STAND 
FOR 48" X 48" DIAMOND 

 

 

 



36" X 36" 0.100" r  Sign hole 
,,,,.,---- aluminum panel 

_, I puncMng
 

Optional lightweight 

J,2-
 

amber flashing light 
is mounted to aluminum 
panel and against vertical 
mast to prevent spin 

 
 
 

Vertical mast 

 
 
 

Sign mounting detail 
3/8 

11 
steel washer 

 
5/16" (0.3125") grade 5 3/8 11 nylon washer 
bolt attaching sleeve 3/8" steel washer 
to vertical mast at 

j fil)Jillll][ Jll=l 5/16" bolt the top 
 
 

 

5/16" (0.3125") grade 5 
Square tube

 

bolt attaching vertical 5/16" nut 

mast and sleeve to stub 

Sleeve 
 

Horizontal leg ••
• 

•
•
 
• 

mast 

Horizontal leg 

 
 

22.25" 

Ballast - 1201b. maximum Vertical stub is 
sandbag weight at end of welded on all 4 sides 
each leg to horizontal leg 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts - 2" x 211 x 108" long. 
(2) Sleeves - 2.25

11 
x 2.25" x 36" long. 

(2) Horizontal legs - 1.75" x 1.75
11 

x 72" long. 
(2) Legs, vertical stubs - 1.75

11 
x 1.75" x 12

11 
long. 

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

12/1/05 

DATE OF REV. NCHRP 350 COMPLIANT 

TALL PORTABLE SIGN STAND 
FOR 36" X 36" DIAMOND 

 

 

 



 
Optional lightweight flashing 
amber light is mounted 
to aluminum panel 

48" X 48" 0.100" Sign hole 
and against vertical 

mast to prevent spin aluminum panel punching 

• 

 

15 '·'----'''c-+ot --- 11-i.---.+--r15" 

 
Lower sign 

mounting bolts 
shall go through 

Sign mounting detail 
vertical mast 

3/8" steel washer 
and sleeve 

3/8" nylon washer 

3/8" steel washer 

5/16" bolt 

 
 

 
Square tube 

5/16" nut 

 
 
 
 
 
 
 

 
Bottom of sign to ground 

shall be 13" to 14" 

Horizontal leg 
Ballast - 45Ib. maximum 

sandbag at end of each leg 

 
Vertical stub is 
welded on all 4 sides 
to horizontal leg 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts- 1.75" x 1.75" x 60" long. 
(2) Sleeves - 2" x 2" x 36" long. 
(2) Horizontal legs - 1.5" x 1.5" x 60" long. 
(2) Legs, vertical stubs - 1.5" x 1.5" x 12" long. 
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 
(1) Optional flashing warning light attached to sign panel. 

 
FHWA Reference HSA-10/WZ-133 

APPROVED 

7/15/05 

DATE OF REV. NCHRP 350 COMPLIANT 
PORTABLE SIGN STAND 
FOR 48" X 48" DIAMOND 

 

 

 

_J_  
12" 

12" 
 

 



 

 
Optional lightweight flashing 
amber light is mounted 
to aluminum panel 

48" X 48" 0.100" Sign hole 
and against vertical 

aluminum panel punching mast to prevent spin 

• 

- --i ------ 12"
 

12" 

15"·'----'.c-------l----9,f -- ,L1 5n 

 
Lower sign 

mounting bolts 
shall go through 

Sign mounting detail 
vertical mast 

3/8" steel washer 
and sleeve 

 
 
 
 
 
 

Square tube 

5/16" nut 

 
 
 
 
 
 
 

 
Bottom of sign to ground 

shall be 18"-20" 

Horizontal leg 

Ballast - Approx. 451b. 

sandbag at end of each leg 

Vertical stub is 
welded on all 4 sides 

to horizontal leg 

 
Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts - 1.75" x 1.75" x 72" long. 
(2) Sleeves - 2" x 2" x 36" long. 
(2) Horizontal legs - 1.5" x 1.5" x 48" long. 
(2) Legs, vertical stubs - 1.5" x 1.5" x 6-12" long. 
Fastening hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nuts, and nylon washers. 
(1) Optional flashing warning light attached to sign panel. 

APPROVED 

5/3/06 

DATE OF REV. 
 

PORTABLE SIGN STAND 

FOR 48" X 48" DIAMOND 

 

 



 

 
36" X 24" 0.100" 

aluminum panel  

•   I 

6" Sign hole 
. • I punching 

 
Vertical mast 

 
 
 

 
36" X 48" 0.100" 

aluminum panel 

 
 

Sign mounting detail 

3/8" steel washer 
 

3/8" nylon washer 

3/8" steel washer 

...  
;j [ Jjj=J 5/16" bolt 

.... Sign face 
Sleeve 

Square tube 

5/16" (0.3125") grade 5 5/16" nut 
bolt attaching vertical 
mast and sleeve to stub 

 
 

•• •• Horizontal leg 
Sleeve---t------i •  • 

• • 
Vertical 

mast 

Horizontal leg 

2.5" 

Ballast - 451b. maximum Vertical stub is 
sandbag at end of each leg  welded on all 4 sides 

to horizontal leg 

Parts List: 
All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed. 
(2) Vertical masts- 1.75" x 1.75" x 90.5" long. 
(2) Sleeves - 2" x 2" x 36" long. 
(2) Horizontal legs - 1.5" x 1.5" x 60" long. 
(2) Legs, vertical stubs - 1.5" x 1.5" x 12" long. 
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers, 
nylon insert lock nut, and nylon washers against sign face. 

APPROVED 

7/15/05 

DATE OF REV. NCHRP 350 COMPLIANT 

PORTABLE SIGN STAND 

FOR WORK ZONE SPEED LIMIT 
 

 

 



 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
TYPE 8 
FLASKIP& 

    
 
 
 

Wl.I£S.! 
t. PROVIDE SICH itA.TERUL.S .\EETINC THE RfWIRf;Wl;NlS OF 

PUBLICATION -tGl-0 SfCTIOH 110}.◄• 

2.  f=lo :v1 ' &0:!i,= I:i :RMll 11":1cHT 
OF TME St  IUY NOT e11CEED 25 It>, 

3. WlN'lliUI MiJUNtlN(;: HEICiHf 10 l(IP OF ol\.L $1(.N$ IS 12$•. 

"· SIJPflflENfA.i. PLA.QU; l'.i TO ee WOUNlEO 4$ SII01N, 

5. BATTERY C.t.SE MUST BE PUtED EIJHER  "DIE l;ACUNO OR 
• TTACJIEO zo• """Xltril.11 ABOVE ltlE CROUIC) To THE 
POST OR BASE LEG. 

G, SJCN Sl.18SrRl.l'E WAY 8E PlT■000. All,,li,(t,U,I, FLEXl!LE IROI.L.·UPI 
SpOl r.J rJlrPL.t. m: UWIHATE, C«!RUCATED POI..YPRO?OL'l'LENE 

1,  SANOUC IJALU.ST SH>.t..L 8E PLACeO CIS' TltE £HD Ofi' UCH LE. 10 
PROVIOE sr.aJLll'r. 

8. SJCNS NO R,t,JLS ARE TO ae ATTACHED "™ 80lf5 AND NUTS. 

!. IF TURMEO 90°, RETROREFLECTI SHEETING WJSf BE Pl.J.CEO Ofil TIIE 
SIDES $0 TM&'J TKE BM;uu.oE IS Cli!.tJlt.Y 'IISIBLY TO Af'i".JIDACHINC 
D111\'tRS. 

ro. W.t)llhl,lt OF iro TYPE e filR.MINCiLti;'ltS  AU. SICN$ AAE ALLClltO 
IJTM 24• SEJ>,llU,JINC LTG!lfS Ctil RCIAJ> ClOSEO SJCNS. 

11. FL.ASHJNC,ll MJS ARE CIJITIOHAL... IHE1' USED, llGHlS SIUll !IE ATT O ,_S 
5H0fN /JO LOCATED ON THE SIDE OF THE SIGH WHICH IS NEI\AE.ST TO TR,IJ,FIC. 

12. . 5JCNS SHM.l. REIU.IN IN THE VERTICAL ,OSIHON IHEN LOCATED IITHIM TIIE 
HICHWAY Rl"ffT•DF"-wn. 

 

12· YAX- \ LICHT    

   
 
 
 
 

 
1,9• $11:EL 'Tl:&UtC 

  
 
 
 

 
1. 5• :STEEL TUBll+G 
SEE NOf'E 9. 

  0,25•  TMlO:. P'L,i,STJC 
S A ARIC MIE. Ri\ll 

  

 
ti 

  
I :I : E fAl. 

'l/,U 

  

     

TYP, 

'tEOOE OF 
ROAOIAT 

 
 

 
 4' -o•  

•-,,,ue,\k'B. _,,,I 
MTN.  

 
 
 

G·-o• I 
  

SKID-MOUNTED  METAL  SIGN  SUPPORT 
  

 
C0 1MONWEAL TH OF PENNSYLVANIA 

DEPARTMENT OF TRA SPORTATION 
IIIUIU!AU OF J,1,1,J :,.'TE,.'l[A.,"C£ .AND OPl!IU'nOSS 

 

 
TRAFFIC CONTROL SIGNING 

TYPE III BARRICADE 

 

 
 

i 

M ED eoJb13
 

CllfEF.TUl'f1c EJQn1r:t:11:11iC • .., 011u.wi-• »1TT JM;J 

SHT. 1 1 

TC-8716 
lt>UWITJ UCIICH TIWFI( (ftltA110111. Ol•1$1CN 



 
'nP. 

 
. E  • o STEEL TUBING 

to• 

'°' 
,m.ow 

--=::::::::::: 

'·-  

' 

' 
_3_! · 

··;.:··:;i!:.-.:., 
-1 Iii 

lo o_o_!'_c-o o o e ooooi 

 

 
T'fP. l/4• 

l/4• 

 

10000000 

h:tc l&m• !TIP.) 

 
009C>O  

 

21. 

,-~ 

 

NOTES• 
I. P"ROYIOE SIGH WATDl(ALS MEETUIG TME Rl:ClJl WENT5 OF 

P'U&llCATICH 408, SECTIOH 1103.4. 

2,• o Ecf 1wu l=!he:N Mlrl"' t:cl 8Ns 
1 •q, ,,. 

3.8ATTERY CASE r  GE 'LA.CEO ElTMEllt ON nE CR:OI.INO OR 
UTI.CHEO IUJCI W U III AB O V E THE I. RO U N D TO T ME 
P-OST CIA 8ASE LEC. 

 

 
 

 
 
 

 
ARE 

 

PLAN 
 
 
 
 
 
 
 
 
 

 
0 

 
 
 

 
1. ls• s:::i. 
SlER T1J8 tNC 

 

 

 

1,. ssa·. 
STEEL lUBINCi 

 
SEE fiOllE 
7  WOU. TING: 

 

:. i  000 •:060HfTP, 

.. 

-1.  ;!w , Ht½f, N=•P!ll A J1Ptts11c 

5. POST, i· STEEL 1\.19lNC SI.IDES OV5fl !ASE srue, ,. n• 
STEEL lUBIN'.l FA.SttNED UTff %1• OUIIETtlt 2¼ • LONC 
SUHtLESS STEEL OR c.RADE !, ZIHC,LAUD OOlTS AND NYL<l!I ui1son 
toe,: MUT5. U,SE Mi• STEEL ,UiD NrLOH HSHER5 USDER BOTll 
fHE 80LT AHO - 

 
6. StNOBl,C SAi.UST $MAI.I. 8E P\.M:£!) CN THE OF EACH I.EC TO 

PROVIDE SU.JILIT'I',  
 

7. SI  PAHa. IS Puce ON THE VEATIC,1. $1(>1 P-0$1 IITI-i  ECG£ 
ALICNE.O 11TH POST TOP END 1.1G FASTENED IJTH Y.• DU.METH 
Z1/4• Lot+C NlL-ON61' FlA..LY THREAD£!> HEX IE.lDED BOUS AK 

INSEAT LOCI:: If.ITS. USE; K· S1E(L MO HTlON •ASI-IERS 
USOER 80fll f'.ilE IB«.T AND NIST, 

e. MA.XIWI.JW OF no TYPE 9 UJINING U-GMlS ON All SlGNS ARIE JJ .t.011&1 

flTll 24" Sf'ARATINl; LUtHTS ON RC"'I) CLOSED Slf;NS. 

t. N!:M!IP 3$0 fESf 1.Evt\. l CR6.$H TUTtO,N() APPROve.o. 

ELEVATION 

 

"H" BASE DETAIL 

ELEVATION 

 

"X" BASE DETAIL 

IOi. · Lt I EreOH t,fDEEV)ifi?dHL i t "s. . .  1l Ti F C. 
11. SlCi'-S SHM.L IIEMAIN IN THE Y'UITICA.I,.os1nOH TI1£JJ LOCATEO WlllHN fME 

HT<.U-.Y FlltHf·Of·l'AY. 

 

 
 
 

fTPEB 
FLASM'ING 

L1CMT 

 

\ ,)!..,-A '-... 
12• .IU.X.-l -(  ,-/ , "· 

 
,D 

 
 
 
 
 

 
--l 

 
 
 
 
 

 
SEE NOTE T I-OR SIGN 
lrlOJJtTIMC HAA01UIE 

I 
 
 
 
 

SECUIIE WIRE 
TOPOST 

;I 

 

2• so.. 
SrEEL TLelNG 

 
SE.E NOTE .- I-Oft ,osT 
.YOUNTl NC HAROr .UE 

 

 

 
CO)IMONWEALTH OF PENNSYLVANIA 

DEPARTMENT OF TRA SPORTATION 
IIIUIU!AU OF J,1,1,J:,."TE,. 'l[A.,"C£ .AND OPl!IU'nOSS 

 
 TEMPORARY PORTABLE 

 

 

 

 

 

 
 

EOOE 
ROADIAY 

. ......... , 
•x• IUSI: at "H• Bot.SE 

see DETAILS THIS SHUT. 

SIGN POST 

"H" BASE AND "XII BASE 
 

ftE. El)Jl.tf.15, Z0l3 eoJ .,1.2013  SHT. 1 I 

aiTEF:ruFHc E!E'INE lliO -.'ID ot,EF,WIW..   TC-8717 
i>£JllfllS KCII nv,,,1c (1'0U,11011'.J Ol'tl$1CN 

1/,• 


	-1 Iii
	21.
	NOTES•
	PLAN
	1. ls• s:::i.


	"H" BASE DETAIL
	ELEVATION

	12• .IU.X.-l -(  ,-/ , "
	--l

	CO)IMONWEALTH OF PENNSYLVANIA
	TEMPORARY PORTABLE
	SIGN POST

